226. If x > 1 and x2 +l_83thenx —Xl=?
39 x > 1 e +——83% x3 — 2=1
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227 If x* + = = 119, and x > 1, then the value of x* + = =?
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223. |fm4+i= 119, thenm—%=?
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229. If x* + 14 = 322, then what is the value of
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2320. If x8 — 1442x* + 1 = 0, then a possible value of x — % is:
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4,1 _ iti 1 will be:
on + |27 If x* + = = 3842, then the positive value of x + — will be:
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232 .If x> 0and x* + x—14 = 2207, What is the value of

x5)?
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233 If x* + x—14 = 6887, then the positive value of x — % is:
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2%, 1f x* + x—14 = 14159, Then a Possible Value of x +;16
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235, If x4 + — = —7 then find i (x 13), Where x > 0.
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7.1f a* + 2= 5077 > 0, then find

2 J e——k‘ a L
/) +_Z = ’5)“" Qﬂé the value of a3 + =
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233. If a? +3 3)2
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—6a=9% @ (a—3)— —— T AT NN :
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2 _ , 3, 1
23. If x* + x = 5, then find the value of (x +3)° + 3l
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240 If x> + 4x — 4 =0,then (x + 5)3 +
Ife x2 +4x—4=0%¢, al(x+5)3
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24/.1f x> — 12x + 33 = 0, then what is the valueof (x — 4)? + [ ! ]?

(x—4)?
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2. If x2 + 2x = 4, then (x + 3)3 — (x+13)3 =?

I 2 +2x =48 ar(x+3)3 - (+3)3$rm«-rr€|7rr:
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243, If x2 — 16x + 59 = 0, then what is the value of (x — 6) + ?
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1 2(.2 .
20y, If \/x + == 3, x > 0, then the value of x (x — 47) is .
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z2u5. If x4+ x4 =47(x>0)

_ 22
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2ue If x*+x* =194, (x> 0)
then the value of (2x —4)2
IS:
I xP+x4=194, (x>
0) @ (2x — 4)% &T AT §:
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2u7. If x* — 9x + 1 = 0 what is the
~ value x8 — 6239x* + 17
. e x2-9x+1=01¢% &
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2U8.1f x2 — 8x + 1 = 0, what is the
value of x8 — 3842x* + 1?
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249. If = 6,x # 0, then the value of\/i+% is:
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250. If x = 1 + V2, then find the value of
VE+ =
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2¢)- If x? — 4x + 1 = 0, then what is the value of x° + x7 — 194x> — 194x3?
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2S2.0f p +% =112 find (p — 112)"5 + p%
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2 xZ+x+2
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254 f x2—7x+1=0, and 0 <

X
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x <1, what is the value of
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255, If (x2 +x—12) =7, and 0 < x < 1, find

—

1 7
the value of x% — —=. . ve
x2 N

«
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8 @ 22— F AT AT
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956 .If (x2 +x—12) =6, and 0 <x <1,

what is the value of x* — é?
I (x2+12)=6 IR 0<x<
X
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